
 

Activity #2: Answer the following questions three questions (w/ parts) 

Question #1: Read the following statement. A list of conclusions follows the statement.  

Two hundred students in their early teens voluntarily attended a recent weekend student 

conference in a Midwestern city. At this conference, the topics of race relations and means of 

achieving lasting world peace were discussed, because these were the problems the students 

selected as being most vital in today’s world.  

 



Question #2: Read the following statement and determine whether an assumption is  

made.  

We need to save time in getting there, so we’d better go by plane. 

 

 If you think the given assumption is taken for granted in the statement, mark the statement: 



Question #3:  

Assume that everything in the short paragraph is true. The problem is to judge whether each 

of the proposed conclusion logically follows beyond a reasonable doubt from the information 

given in the paragraph. 

 

A study of vocabulary growth in children from eight months to six years old shows that the size 

of spoken vocabulary increases from zero words at age eight months to 2,562 words at age six 

years.  

 If the proposed conclusion follows beyond a reasonable doubt (even though it may not 

Ŧƻƭƭƻǿ ŀōǎƻƭǳǘŜƭȅ ŀƴŘ ƴŜŎŜǎǎŀǊƛƭȅύΣ ƳŀǊƪ ǘƘŜ ǎǘŀǘŜƳŜƴǘ ά/ƻƴŎƭǳǎƛƻƴ Cƻƭƭƻǿǎέ 

 If the proposed conclusion does not follow beyond a reasonable doubt from the fact 

given, mark the statement: Conclusion Does Not Follow. 

Judge each conclusion independently.  

Questions:  

 

3.a None of the children in the study had learned to talk by age six months. 

 

       ______________________________ 

 

3.b Vocabulary growth is slowest during the period when children are learning to walk.  

 

       ______________________________ 

  



 

 


